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INSTRUCTIONS T0 THE CANDIDATES

1. Theadmissiontothe examipation is_ provisional.
In the event of any information funished by the
candidate found false/incorrect /incomplete at
any stage, the candidature shall be rejected.

2. Darken the circles in the OMR Answer-Sheet

completely with Black / Blue ball point pen
only. Partial darkening shall not be evaluated.

3. Darkening two or more circles completely /
partially shall not be evaluated.

4. Changing the darkened circle in any manner
putting ‘X’ mark / using white fluid / erasing
by rubber / blade etc. shall not be evaluated.

5. This question booklet shall not be opened
until instructed. Write your Roll No. correctly
in this booklet as well as in the OMR Answer-
Sheet.

6. The candidates should carefully check the
No._ of Printed Pages, Questions and their‘
Serial No. In case of any discrepancy found-
exchange the defective one and collect
another correct one from the invigilator within
5 (five) minutes and thereafter no complaint
shall be entertaingq.

7. The examination shaj| g conducted as perthe
Odisha Conduct of Examination Act: 1988.
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3¢ G149 6 44 RIe
HILD DEVELOPMENT & PEDAGOGY

C

1. Which of the following IS not a principle

1. 398 crig cedc Gaia gaaIR 1@ A4
of development ?

6% ?

(A) Qqiee (A) Uniformity

(B) aquei@ael (B) Continuity

(C) <iBee geae (C) Individual difference
(D) geNIdea! (D) Predictability

2. Which of the following factors has least

2. G6qI9 6@a alawec d9dg ¢ @
effect on learning ?

geIee @Qag ?

(A) QARG (A) Fatigue
(B) <4 (B) Age
(C) agss (C) lliness

(D) @IS 6T (D) Gender difference
3. If mean of 25, 29, 25, 32, 24 and x is

25, 29, 25, 32, 24 8 XQ QAle 27
27, then what will be the median ?

> catm, F1fl 6Q66 62 ?
(A) 32 ) 32
(B) 27 B) 27
(C) 26 (©) 26
(D) 25 ©0) 25
N (Continued)
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4. 4@ SAMISRA ARIAIA G IR Delges

46 10 626, FRICH 6Q66 6247
(A) 1.5

(B) 5.3

(C) 16

(D) 6

QIal 1969, “RICAII" 6QRE AW
QRRQ IR AP AIGR ?
(A) 2REAT

(B) 4GS
(C) 6QId JaeT

(D) ] RAR

geaEIReIa RISS AIR &4 gaIsA @
Qo188 990 KQYEM ?

(A) §199Q
(B) GReae

(C) saI8Q
(D) QIR

cdlae Salse ganIa G6qI8 689
JoIgE GIQ FAUARAIRS ?

(A) 9099
(B) °gR]
(C) 6dlge

(D) eusqie Aaa

. According 10

. Whod

E)TET - P-ll

de ofadataare 4and 10

o .
If meagtia:,r;cliymwh at will be its median ?
respe ’

(A) 15
(B) 5.3
() 16
(D) 6

whom, “value” in human

life is a strond interest of human

personality ?

(A) Allport

(B) Pluto

(C) Josh Billings

(D) Mack Claski

eveloped creativity test for the
first time ?

(A) Travers

(B) Guilford

(C) Torrance

(D) Paina

. Measure of scholastic development

can be done using which of the
following test ?

(A) Essay type
(B) Objective
(C) Oral

(D) All of these

(Continued)
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10.

11.

2196
Mdge aug cade padat?
9eG Q6g ?
(A) zige agaae &'
(B) @geaies qaniae 4

(C) Qaiag AR
(D) edigaeel aadd

6Q606a6e 968 899 9 ~
Saie asd, daa adi 0 sdlar 49 @0
SIRIQ 6 gIAN ?

(A) G946 6T

(B) asmiel 624

(C) d9Q6aLa

(D) 6<l6GE g6
Gog 6o 9t aar saae aiR O]
263 ?

(A) @I SRIEiIeg 6aAREa QR FRIER
oIcaIon! 6 386 Qi1 a1 29616

62N

(B) 8mes 0644 QIR 2603 KRG

(©)
(D)

Go@ FRIQ 6960 3969 gRIRe @aaQl
FaIeh QRE N9 QRR 96?

Qe6AINGIR FR2IEe @2l
FQ1219 909 99R 62aR2N

(A) Q6aI6aIa
(B) 6994IQI?
(C) @
(D) an&

(4)

10.

1.

owing is nota non-testing

Which of the foll
techniqué ?
(A) Interest inventory

(B) Adjustment inventory

(C) Rating scale
(D) Work skill test

acher decides teaching
s and
ts is known as

When a te
method, learning activitie

techniques for the studen

(A) Learning centric
(B) Learner centric
(C) Teacher centric
(D) None of these

wing statement is

Which of the follo
learner centered

correct in case of
approach ?

(A) Allows students to interact with
their teams through discussion and

learning activities

Passively waiting for teacher’s
instruction

Collaboration is discouraged
Does not give importance to
student’s voice

(B)

(C)
(D)

Which of the following is not a learner
related factor affecting learning ?

(A) Attention
(B) Motivation
(C) Goals

(D) Communication
(Continued)
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12.

13.

14.

15.

oF sgé11§61 Q1P ARG FVIR Q|
QA6Q IAIERER 26E ?

(A) GIQ1RQ dI QIdige
(B) dQIQIe aadq dale
(C) 9F 6ERIIQ AGYRR 69

(D) SRR AARR 0Q

@ CANIRPIQ 99E (variance) 196
626m, AIER TS 6R6C 629 ?

(A) +14
(B) 14
(C) 96
(D) 98

“Gean 40 S, JA QAR IR 26R
org 5649, JIZIAIR ANFE IR
oIegiael 28 1”98 69Q AT
gqaigd gml ?

(A) QIR

(B) 6%I0IQ

(C) QRIS

(D) Qacee ca

eea’ 629 gRIOQ SFE AT 26T ?
(A) QIQIgeR

(B) gede

(C) gemde

(D) 6RGAT gee

(5)

12.

13.

14.

15.

OTET - P-ll

es, play-way method of

In lower class
sed on

teaching is P2

(A) Physical educ
(B) of methods of teaching

(€)

ation programme

Theories
psychological principles of growth
and development

sociological principles of teaching

(D)

The variance of a set of data is 196, then

the standard deviation of the data is

(A) +14
(B) 14
(C) 96
(D) 98

«The education of the disabled children

should be an inseparable part of the
education system for which integrated

programme is necessary.” This
was the recommendation of which

commission ?

(A) Mudaliar

(B) Kothari

(C) Radhakrishnan
(D) Sergent Report

Which type of teaching aid is ‘Model’ ?
(A) Dimensional

(B) Display

(C) Projected

(D) None of these
(Continued)
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17.

18.

19.

. ﬁﬁlﬁme

Q Aqade ggoseie @@l
“deq SR%190 7

(A) aqug 28gen de

B) geqy o2 2Rqe a96
(©) U298 Qase eiviGe 386
D) *¥aagg

69Q Q3G
AN 2igg
(A)

(B)
(C)

NR 991999 §996! A6
?

IR 90 aarman S9g6 59 B6e
2 PRI RqRIg eedeig

1 2998 21010 eese gaie aeig
Qe

(D) Qqge U 6267 6301 2R 629

UMM QRIS Sgo @9l 019 fiq
Qg ?

(A) zaqieg
(B) esRee)
(C) ace
(D) easqis qag

4ROIR QIR o8 aggq 996 agaig
aQ1FE @qgel adiig 9997 qig

(A) comiag
(B) adieiag
(C) aieaq
(D) 6SNLmMQ

(6)

16.

17.

18.

19.

P in
Social constructivism in teaching
focuses on |
(A) Examination oriented learning

(B) Information oriented learning
(C) Experiential learning

(D) Passive learning

Which of the following statement about
reliability of a test is correct ?

(A) Reliability is fixed for a given test
(B) It varies from sample to sample

(C) Itis not affected by the size of the
sample

High reliability ensures high
validity

(D)

Which characteristic-of Creative

thinking differs it from other general
thinking Process ?

(A) Divergence
(B) Originality
(C) Fluency

(D) All of these

What was the name of the German

(Continued)
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20.

21.

22,

23.

Gga MR 68LS JaIGe Jad
gaaisa aaIe 6759 afIa IR 63|y
g6s ?

(A) <2 URRQAX G GIQI QANJe 266
(B) daiEi F6x RIAA Beilel aReI

(C) F9QS QL6AIGER FBE 6g4
QE6R ATa &N

(D) 2@ ge FNIGe agl 2ee

Gaa 568 Q0Q ge8 QIR K6a JNE
c606Q6R QUITC 6NN, IR X'l

qaiand ?
(A) Faich 6359
(B) 99% 6F5Q
) aad (3=
(D) 8% 67&e

gIgr 699 GRI0R 86 QAQAE 26S' ?

(A) g
(B) &I
(C) ¢89IaM
(D) 2qL1e
504 6ed QIee 9@ INITER F9391F
geIde eda ?
(A) 99980 SRGAYIA

(B) 68159 QaRFI/I0R
(C) LPARIF AIRAR 2SI

(D) @968 AN8

7

20.

21.

22.

23.

OTET-P-Il_|

following isnota
characte of child centred approach

in teachind |eaming process ?
@) Itis oyt and game oriented
(B) jscovers knowledge

©)

Which of the
isti

Learner d
with the teacher’s effort learner
pecomes active inside the

classroom
Itis a prescribed approach

(D)
enad child is motivated to accept

Wh
for learning is called

responsibility
(A) Learner centred

(B)
(C) Learning centred

Teacher centred

(D) Book centred

Graphs aré categorised under which
group of learning materials ?

(A) Visual

(B) Audio

(C) Audiovisual
(D) Collected

Which of the following is a factor
affecting reliability of a test ?

(A) The wording of the questions
(B) The physical setting
(C) The respondent’s mood

(D) All of the above
(Conﬁnued)
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24,

25.

26.

G 4 <
gﬁq c2IeRiq Gg6 @ aaeRRdIw
199 affiag e g@iad ?

(A)
B)
(C)

R

Q990!
A 3948
(D) eQuel

Qee gq 906 @as! BeIes 674 675
9% Q& 69QIg 621NN ?

(A) QRO

(B) Faxel

(C) gIAaesl

(D) Qa6aI8 ANY

g AIe goel @9
giea 963, GaId 6 gARE 7163
g69d 9o Q99

216G |
(A) TN
(B) a@6d
(C) adeIa

(D) PEAUGPT

(8)

2

25.

26.

4. The measure of the spre

| OTET-P-l_|

ad or variability

of scores in @ data is called as

(A) Norms
(B) Reliability

(C) Standard deviation

(D) Validity

To frame a model question, which
characteristic should be taken care of ?

(A) Clarity
(B) Specificity
(C) Relevancy

(D) All of these

Fill in the blank :

___is/are the gateways to
establish, develop and extension of

knowledge.
(A) School
(B) Environment
(C) Family

(D) Senses
(Continued)
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27. GIORERR JRINAQ QEQEY @4l ?

(A) @489%99 *LR §a afelg

IO 6896Q ATRGIR TIQ FFIQE

(B) 9
QaRIQ

(C) 886 2FYHE FNIaE RRIQ

(D) 9m6 agRl Gda edqig

aaiEia 886 TRNTRQ AP QeI
@€ @QIQI\‘] ?

(A) Q@RS 9184

(B) 98 aqA&

(C) RIS ANIAE

(D) QRAGINGI AT

28.

20, 2g6FlER AAITIRR VAR VG FRAAIN ?

(A) &.6a.ad
(B) .69 deaR
(C) & 6. 5ad
(D) 6gqals!

6RQ F99QREQ 6F6IIRAINE 6ALER
9% G IRde REASRI" 98 94 F0F

@Rem ?
(A) Qe
(B) emienaql
(C) ¥R 2R
(D) §%

30.

9

27.

28.

29,

30.

OTET - P-ll

What is the purpose of formative

evaluation ?

(A) Decision of what to measure

(B)

To assess achievement at the end

of term
To assess the progress of

|earningd
d out learning difficulties

()

(D) To fin

Test that measures learning outcome
of students iS

(A) Achievement test
(B) Intelligence test
(C) Aptitude test
(D) Creativity test

Who is the father of micro-teaching ?

(A) B.K.Passi
(8) D.W. Allen
(C) D.D. Tiwari
(D) Prem Chhabra

Which psychologist coined the terms
“Storms and Stress” in Adolescence ?

(A) Clark Hull
(B) Kohlberg
(C) Stanley Hall

(D) Bruner
(Continued)
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<1 QQ" ?

Aeqie 6ea e 2 o

(A) 2Ig6ad

B) ag geael

(C) ey e

(D) &Iy grIad
T

cce aaigal - g9 e @

(A) eIy *aC!

(B) &gaIs @d @<

(C) gge 6aal
(D) g 0R<

31.

32.

o G@ ey 909d 61 g6M U
ae@e dada @4 ¢9?

(A) ‘@ g9

(B) 6RIAZY

(C) q g9

(D) ‘@ g9

33.

@EQQ QlIFIE 6RES URY Q68 97 |G
gesa6E

34.

G6R 6249 624 F9IF % QIR SIFR?

@, QRIQ 5%

G?fijl, QRIQ 59, 0geq 5g,
Qe

@4l 9919 52, 9dege
AYATYeR 52, omy

(A)
(B)

(C)
(D)

(10)

36.

37.

38.

652l QIS 2gaIea caa 906 g8 ?

(A) ©6OIER
(B) G601}
(C) ooye
(D) GORIR

QUBEE gEaT g0 @aRl AIe J8R 6Q4
JQ68Q g2d *ael agoe ?

(A) Sgee goal 5%¢

(B) 799 690I6Q 57

(C) uIQIIRe gl g6Qld

(D) QR 655 a9 g

Jalehe 2IeRdeR ARG
FIQ ARAS 6NN |

(A) <IOIRe

(B) adees

(C) 44

(D) Qeda

(Continued)
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39. ‘QI2IGGN, 96 ‘FQI AT 6o 3=1
YD ?
(A) ASMIGRIQT
(B) 9GRRIQ)RQ
(C) |IQQUeR

(D) geelRI@

G609 FRIQ 6RLE 2ANR AR F'Q
Qal?

(A) 6208

(B) g3

(C) eeealIs

40.

(D) 62RYe

gee ageRedq 9@ faea IRl 99
(41 @ 45) 9P°% 28R 6R |

qlcacd, agas!, ASEE QIAgH AR
gael | aN68 GIRIE QUER 926, 2AGR6R
Qe Qifee | queea Q2al aiR, g
caldiel aIs 692 o125 @IF | an68 AR g8
cuied, g g8 AR @EF A999
QaIReIN | 6a60 Q12 IasR & A7 §65A
a8 eeen aing qu Aseal | 669 4
dIRQIg 626m Adgaed A9 apeq €Ie
QYQIQ &< |

(1)

OTET - P-i

cloq &5 QIS 26A AMAIRG AR AR FYa |
216 ARAIRT O JdIRem, 64lER el

2 o AR | 2NADEQ, 26A S
aeclesg Q6 Qa@l, A8 QU] QR
cgdql, o 626m 21T @130 39 9n AI0Q?
o6 96 QIel ANR6R A9 Q06Q SRIa 53l
calga Gael, 6969 64 MY T g% sua
qQlaql 6aIEe @aQ | AFIAIRE QA6 2l
eq “qia «Iea 2IC1Ige 6QAIRE ARER

505 6 eI a8 97 @aQ | 69991 gHER
Qaqlg 626m A9 G06Q A6R6R OR 53l
agql, AIAIeE eRIFT QaEl, 78 806
on QIR agem 2Ig aIa 9 92l 621RR0e
gea 6 aleteld | Ads3 BIdg 2GR

Q4I9g6e |

41. 6206 0R?
(A) 98 I8 FeR
(B) 4IBQ Q8 A6
(C) Qxeg gsl 6w
(D) QeI AeQ F6R

ARG AESER 2iF ARR HAId AIE!
gJ6R....
(A)

42.

2INGE 6AAIRT ARER gl a1

QR 99
21095 6acles ARea 368 89
Qa g9

293 6QAIeE FF6R Ge3 6
g8 a1e 98 g9 _
6QFlIRE g 21a A969 qes 6
QeI eie Q7 g9

(B)
(©)

(D)

(Continued)
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43. 99 aIGsq a@aIea AL Q@ ?
(A) Q6] AGERER 4i5 66169
(B) 418 aipeIR €IS cleaaId

(C) €18 aneg GeeRid
(D) @aeqis AN

44. ARQ GIF QIR 94 @697
(A) NG ARIR 6@
(B) &Ryg ARIAY @A
(C) aNg am ARG
(D) aacais 6416G6 96%

45. Qol6Q QRQIQ 626M...
(A) 2liel aIp Gosa 4g6a6e OR 98I aYl

(B) epyaiea 80 QAR 84S
(C) A% §6a an AR aYS!

(D) Q68 AN

46, BgRge g 696S qI916@ 6 658
geIan1 ae Aqe 6L ?
(A) 6269 2193

(B) 216701Q 93
(C) I9I8Q MSIP

(D) 9048 83

47. FAIRG CISER 699 AQ 2TE! 6R
galq QAges AR 9 9eIe IR
Qiegl @AULSl Ag56 ?

(A) GINAP QT

(B) 641a@ @A
(C) 2eadia gellaqT

(D) QGRS

(12)

@ goa
g4 (48 @ 52) 4979 @

Gell, eao! @f, 6@

oG 0% GUIAIRGS

QGorras a0
aa 6mel |

oa 9 6ee

¢l o16a g aIF, 99 6all
od aaa gie 6alan 98 917
ag saq ) §q 69l |

g8 65a1 Q61 IBG 672 QI8
aanl dg, “aQ @l 66,

a6 age qal g ag aIg gdl
@ ¢ aoieea I 64l I”
Aiqe fiee! 996 aI6Q 617
Q qIF QeI Fo,

oQR 21F a2l 9/F o IR QL
aee @6 o 0 |

JIR A0 82 69R A7 A
6QIgg 621G @a asldl,

¥Qg $Qaq A9I8 AgYY

92 © a9oR aniié! |

48.

49,

Qa6QIs T9Y6R QAT AP AR 6N
@aa ?
(A) Q9Q
(B) *F@
(C) ©oFa
(D) <4l
936 KR QG — 9 K2l @4 AV
@eaa?
(A) SR RET AR
(B) Q79 *E8 Mg
(C) 991 QL8 AT
(D) oFR @28 /a1
(Continued)
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50. ‘SRR 92 GIF’ Q2QIQ 217 e »

56. 6Rac 994669 FIRAR GEIARQ 969

(A) 9% 9% 266 ?
(B) gﬂa? = (A) 2ida 9109
(C) STRQ T4a 9q (B) 6<l &%)
(D) 2UEAUB 6T Qes () gRe%el 499
51. Q2 IR M QIR QIR ? (D) QAR Q6T
(A) &4l
(B) @at 57. cadd 4@ 2IPASHe IRLeR 62Iagsn
(C) @9 ¢1el 896 g% ?
©) %fa (A) B4l Gl B 6299 U6Q QIR
52. 7% @R TR 6AIES AR qialg (B) geeg QAR 9ade
QaIdIae ? (C) aeIea aRié HA63 Iy
(A) A6189 (D) gyl AARIE KRR
(B) @1
(C) Qeag 58. JRGQ o QEREY @67
(D) @orme . (A) IS @QQ
53. OY6QIER 28 K'&l? (B) Qi@ Q<
(A) eqqel (C) @uela @84l
(B) 2gee @dal (D) QUEAUB AN
(C) @2l @aal
(D) Q6N BRR YSIAE BAS 59. “Q8¢ 963 A6 @8 28T 69"-1eIg 1@
. o - , A96Q gRId [6R @'l 628 ?
54, PORYS ARIQ 6RRT SR IRU F6%? bk
(A) 92 4R 2RGEe 9Ae6R (A) doRe
(B) 2@ asaaugd QId! (B) W]Xged
(C) w2l &g 9o (C) @qu gede
(D) &iv¢ 62ag !4 (D) 95a Qe
55, g2l 6 el dais Qe age 4edIR 60. '69IQ 68laI QIQuQR QeFE! @47
QUEAS 62610 6291 AEQ ? (A) SIETIIR 671629
(A) QIZ 6RURR (B) QRIQI Qg
(B) Aeg6QId gaNIR (C) 9698 FI@Id
Eg; g%%'g :‘;g@ (D) eaiaiqie aelid |
(Continued)
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61. Reading an unseen passage in the
examination hall comes under

(A)
(B)
(C)
(D)

extensive reading
reading for pleasure
make happy the evaluator

intensive reading

62. Which of the following is considered

receptive skills ?

(A) Listening and reading
(B) Reading and writing
(C) Listening and speaking
(D) Speaking and reading

Find the correct sentence from among
the following :

63.

(A) He is a strange man, isn’t he ?
(B) He is a strange man, isn'tit ?
(C) He is a strange man, is not he ?

(D) He is a strange man, is he not ?

Identify the grammatically acceptable
sentence :

(A) School begins at 10 O'clock

(B) School begins at 10 o'clock

©) The school begins at 10 O’clock
(D) A school begins at 10 O’¢lock

64.

Read the following passage and ansyg,

the questions (65 to 69) that follow :

Once upon a time there was a King wh,
wanted to make all his subjects happy ang
conteded. So he asked them to come to hip,
with their grievances. One man came to hi,
saying he wanted toleave his small hut to liye
in a palace. Next came a woman who had 3
fruit stall, complaining that an old lady the
next stall used to sell old clothes and asking
that she might be removed. Another man
asked permission to put his old unsafe boat
which the harbour master had condemned
out to the sea. The king granted all these
requests.

A little later, however, the first man came
offering to give up his palace. He found
he had to behave so carefully and keep
such state in it, that he longed to go back
to his comfortable little hut, where he was
happier.

The woman also came complaining that she
had lost all her customers, for they came first
of all to buy clothes from the neighbouring
stall and then stopped to buy fruit before
they went home. Then what happened 10
the man with the boat ?... Well, he certainly
did not return to complain, for his boat was
put out to sea as soon as the king had given
permission, and neither the boat nor the
owner was ever heard of again.

(Continued)
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5. The three dissatisfied er
passage must hayg |earnf$i?s s
pas € lesson

(A)

there shoy|q

. € a lim
desires limit One's

expected

future joys are S

Weet
present ones ®r than the

66. The main purpose of the passa

geisto
(A) tellus an amusing story

)
(B) bring out a morg|
(C) throw light on the king’s greatness
(D) show how foolish individuals can be

67. The phrase “put out to sea” in the

passage means
(A) condemned
(B) set sail
(C)
(D)

set free

put an end to

88. The man who went to sea in his boat did

not return to the king probably because
he

(A) had no more complaints
(B) was on a long voyage
(C) was afraid of the king

(D) was drowned in the sea

(31)

| OTET - pA| |

69. The first man was happier in his little
hut than in the palace because

(A) he could lead a simple, carefree
life

(B) the palace was too big for him

(C) people did not treat him like g king

(D) he was too humble to live in a
palace

70. The process of dividing a sentence into

a few sense groups while reading is
known as

(A)
(B)
(C)
(D)

eye-span
chunking
skimming

scanning

71. Primary requirement for writing a

composition/essay is
(A) sequencing

(B) vocabulary

(C) idea

(D) style

72. The book is interesting to read.

The underlying word is a/an
(A) adverb

(B) noun
(C) verb
(

D) adjective

(Continued)

b
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73. | can't lift the box. Th

74.

75.

76.

e full form of

“can’t” is

(A) canot
(B) can not
(C) cannot
(D) cannut

is useful for

Which of the following
ning ?

learning language at the begin
(A) Teaching

(B) Explanation

(C) Persuation

(D) Exposure

Which language skill competency is
in teaching-

considered most important |
learning English in India ?

(A) Listening
(B) Speaking
(C) Reading
(D) Writing

nswer to the question.

Complete the @
?H,

mNhat time does the bus leave

Mohan asked me.
Mohan asked me what time the bus .

(A) left
(B) had left

(C) Jeaves

(D) I8 leaving
(32)

sentence :

78.

79.

identify the most appropriate and righy

You should avail of every OPPortuniy
to practise gpeaking English.
uld avail yourself of every

you sho .
practiseé speaking

Opportunity to

English.
avail yourself every

You should .
opportunity to practise speaking

English.

(D) You should
to practise S

qvail every opportunity
peaking English.

grammatically acceptable

|dentify the
e following :

sentence from among th

(A) Heis tired and so you are

(B) Heis tired so you aré
(C) Heis tired and so are you

(D) He is tired and so are you ?

Find the correct sentence from among

the following :

(A) | will have you all to speak English
well within a year.

(B) 1 will have you all speaking Engl
well within a year.

(C) Iwill have you all speak English well
within a year.

(D) | will have you all of speakind
English well within a year.

ish

(Continued)
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80-

81.

82.

which of the following is not a correct
statement ? .

(A) Assessmentduring teaching -leaming
process is more useful.

(B) Summative assessment is useful
for redesigning the strategies.

() Formative assessment provides
feedback.

(D) Assessment is ultimately useful
for improving teaching-learning
process.

Which of the following implies “to utter

with more degree of force” ?
(A) Stress
)

B) Intonation

(
(C) Pronunciation
(D)

Pause

Choose the most appropriate answer
from among the following :

Your answer is right.
(A) hundred per cent

(B) hundred percent

(C) a hundred per cent

(D) cent percent

(33)

83.

84.

85.

OTET - P-ll |

|dentify the correct spelt word.

(A) Vacuum
(B) Vacum
(C) Vaccum

(D) Vaccum

Primary objective of teaching-learning

English in India is tO
(A) ensure better employment
(B) persue higher education

(C) develop communication skills

(D) remain updated about

developments

Identify the false statement.

(A) Englishempowers people to getany

information offered by the internet.

English has not only become a trend

(B)

but upmarked pursuit also.

English as a second languagé is not

(C)

available in Odisha State.

English is a link language-

(Continued)
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Read the poem given below and answer

the questions (86 to 90) that follow :
I hear leaves drinking rain;

I hear rich leaves on top

Giving the poor beneath

Drop after drop;

Tis a sweet noise to hear

These green leaves drinking near.
And when the sun comes out,
After this rain shall stop,
A wonderous light will fill

Each dark round drop;
I hope the sun shines bright

Till be a lovely sight.

86. The poem is primarily about
(A) mankind
(B) the sun
(C) rain

(D) green leaves

(34)

g7. Which amon

88.

89.

90.

OTET - p :l

g the following is Nearegy
in meaning to the word ‘wonderoug’

(A) marvellous
B)
C)
(D)

unexciting

tiresome

(
(
tedious

“_eaves on top” represent
(A) Rich people

(B) Poor people

(C) Green leaves

(D) the poet and the sun

Which among the following is a symbo|
of hope in the poem ?

(A) rain
(B) sweet noise
(C) the sun

(D) green leaves

The word ‘I’ used in the poem refers to
(A) the sun

(B) the rain

(C) the green leaves

(D) the poet

(Continued)
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[ Gde<e oue B

| MATHEMATICS & SCIENCE |

@@ x=6-/11 T8y= \[rg\q

If x= G—Jﬁ and y=\/6+\/ﬁ,then

91.
91.
(x+Y) 6768 GQQ 4 the value of (x +Y) is
n V22 A) 22
B) 2411 ® 241
©) 8 ©) f
92. 699 LM AFQ 6AT A°SyIg Teaid 92. If difference of a number from its
Q6R, GEAITR 10626 9, 698 TR cube is 10626, what is the half of that
21| 6@6C 69Q ? number ?
(A) 10 (A) 10
(B) 13 (B) 13
(C) 12 (C) 12
(D) 11 (D) 11
93. 6l QARG R AAIBR AFR 93. The parallel sides of a trapezium
By 32 &. B 20 §i. 266 IQ° 6T are 32mand20m and the distance
qIea qael 15 4. easm, oidFaqa between ther_n is -15 m, then the area
of the trapezium IS
CIQTR 6960 ? 4B
PN sq.m.
(A) 290 4l @ el ol
(B) 390 o4l @ ©) 780 S
(C) 780 @i @ D) . Sq.m-
(D) 400 @di @ (D) 400@q.m.
ae @@<I A6 / SPACE FOR ROUGH WORK
D (35) (Continued)
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94. Between two supplementary angles,

94. 9% ARG 6814 FI6R, 681 6RIER hs measure of the smaller angle is
90918 Giea agges eRIeR 4 99 A1 four times its complementary angle,
QR 626R, 6Q18 FAQ ALRY 6R6G ? then their difference 1S
(A) 30° ' (A) 30° ]
(B) 36° (B) 36° \
(C) 430 (C) 430 4
(D) 45° (D) 45°
95. 588 Q YARIAS QMY 6R667? 95. The number of factors of 588 is
(A) 24 (A) 24
(B) 22 (B) 22
(C) 18 (C) 18
(D) 16 (D) 16
96. ¥2 6 43 @ gaoe cace? 96. What is the product of 32 and 43 2
12
;) 76 (n 96
12/
(B) 18432 (B) 432
c) Y648 c) Y648
(D) gere Fda 2a62e A (D) Can’t be multiplied
97. a+b+c=2x626m, {(x-a)*+ 97. Ifa+b +c=2x,then {(x—a)2 +
(x—b)2+ (x—c)2+x%} =2 (X—b)2 + (x—=C)2 + X2} = 2
2_ .2 _p2_ 2
(A) (x*—a“—b=-c) (A) (R—a2-b2—c2)
(B) (X% + a2 +b? +c?) (B) (x2+a2+b2+ c2)
(C) (a2 +b?+c?) (C) (a2 +b? +c?)
(D) (4x2—a2-Db2-c?) (D) (4x%—a2 —p2 - ¢?)

Qg 2QQ1 A / SPACE FOR ROUGH WORK
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8. @66l 6QIN 63T 9F qaeq 10%

99.

100.

@ai6 6991 62 A 10% Qe @ed | 9@ QF

Qd68 775G 6AMAKIN, goca on
e 69687  S96Q Q4 ga

610140 Q.
62 ¢. 37 Q.

Qo069 AAAMI AARIR 6NaR c2aF —
(A) 2CeR

(B) 2RJR AN

(C) 98 4eaIQ

(D) d948 QI Al

JaIeh 6RLe J9I6Q JARTA 69Q
QIdQ 0E8?

(A) J986Q QALILG! 6QQl

(B) 638 adiexd Q& @

(C) adycenq @If @&

(D) QueIe AN

OTET - P-ll

98. A shopkeeper on selling a book makes

99.

100.

a profit of 10% after allowing 10%
discount on it. If the marked price of the
book is T 77, what is its cost price ?

(A) T61.40
(B) % 62.37
(C) T70
(D) % 63

Problem solving as a strategy of doing
Mathematics involves

(A) Estimation
(B) Extensive practice
(C) Use of formulas or clues

(D) Activity based approach

What is the role of a teacher in learner
centred approach ?

(A) To facilitate in learning
(B) To create a learning environment
(C) Act as an observer

(D) All of the above

Qe @ael e / SPACE FOR ROUGH WORK
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101. 6s65 gdc Gagq e Fad QG
Q6L ?
(A) QI 9ge Qe
(B) &g adea aiEce aaie /aa
(C) QFda &g axe Faa!
(D) 2UCEAGR 68gTR AL Al

aaigIgee gaie araiaise 6194 99
oda aq, a8e FaIeIea 696 990
qoNa?

(A) AL
(B) WAL
(C) ge%

(D) d94 Iy

102.

103. 2 GIGER Qg QT QIF @R 2R

ZEgEe ARIEQ A FIIR @8 QRIS

gl FFIRd @Alg @€ gLIAIN?

(A) 2I6QI2
(B) &e6qI2
(C) Geagd
(D) Q°649¢

101. WhICh of

102.

103.

r OTET — P-m

the following isnota ?Peciﬁc
of Mathematics learning ?

objGCtiVe
reparation of graph

(A) P
f mathematics

(B) Quick calculation O
(C) Construction of a rhombus

(D) Calculation of area of a rectangle

To determine & formula with the help of

experimental proof is a/an
method of teaching mathematics.

(A) Inductive

(B) Deductive
(C) Project

(D) Activity based

Dividing a mathematical problem
into small parts and frame a relation
among them to find the way of its
solution is known as

(A) Inductive
(B) Deductive
(C) Analysis
(D) Synthesis

(38)

Qg 24Q! 919 / SPACE FOR ROUGH WORK
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g

. 89 g@am 69 adicene asigeel

105.

106.

g4 699 9919 FRIIAe Bigdie?
(A) QLI

(B) ORI

(C) RN

(D) 24YeR

XxBY 998 WA QLG 720 e°

12x 6 5y Q ALY, A1 720 1 y @ gy
666 ?

(A) 180

(B) 144
C) 120
)

(
(D) 90

BORGE FRIQ 6RRG 9@ aRERITARN
962 ?

(A) X2+ 2x—

NG

(B) +3x2—2x

(C) NI
X

(D) \g@e ag aReRITaIN

104.

105.

106.

OTET - P-ll

In “Mathematics Exhibition”, the
questlons asked by the observer is a
type of evaluation.

(A) P lacement
(B) Formative”
(C) Dlagnostlc
(D) Summative

LCM of two numbers X and y is 720
and the LCM of numbers 12x and 5y is

also 720. What is the value of y ?
(A) 180

(B) 144

(C) 120

(D) 90

Which of the following is not a
polynomial ?

(A) X2+ 5x— 5
(B) /3x2—2x

(C) X2+ 1
X

(D) These are all polynomials

QLT eaql gie / SPACE FOR ROUGH WORK

Scanned by CamScanner




/&
Q ° R

oa 6gea|P = 88°, |Q=47" R =32
626M X° Q AQANE 6R6C ?

(A) 167°

(B) 193°

(C) 253°

(D) 158°

108. C

A B
QR ©G69, ABC Gg@a AC = BC,
[B=72°,CD =162% 8 AD, |A
Q ANFHER 26S, BD @ 664l
6R6Q 62Q7?

(A) 16ad
1 -

B) — 6Qd

B) 5

V5 -1

2

J3+1

(D)

646

(C)

6Q

P

107. :;
x° R

108.

A

Q

In the giv
If! =32°, w

en diagram, [P = 88°, ‘%J_ =47°,
hat is the value of x° ?

B

In the given figure, ABC is a triangle in
which AC = BC, B=72°,CD=1c¢cm
and AD bisects |A . Find the length of
BD.

(A) 1cm
(B) %cm
© ETom
(D) \/§2+1cm

Qg 2091 219 / SPACE FOR ROUGH WORK
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110.

| GqRYS AUR 6RAT 98ea e gqd
q6e?

(A) 89S UASIYER Gr6a adal

(B)

©)

(D)

88 IS 90 9die 1R 2ge el
QIZRT! QAR REQ QIS

IR SI08 AR gAa @86l geagd

Q°FY QR IR K0 AR ANGoR
QS QRN

GORYE IR 69R0 J86 JNEQ 1@
14 AQY 26T ?

(A)

FATAURG, LGl 6 AR QLI
AR Y KAQ!

FQicIeae @alead @96 98 QAQ!

qoyaey Gda aIe aaIdineaa 99
P9 @YV Q@RING!

Fqiciciee FU6a A8Eee @Al q&
@<l

110.

109. With regard
which of the following is not correc

(A)

(B)

(C)

(D)

OTET - P-ll ‘

to nature of Mathematics,
t?

Mathematical concepts are
hierarchical in nature

Upper primary level Mathematics
is abstract and does not need
concrete

Argumentation skill is necessary for
construction of knowledge

Mathematics uses special
vocabulary to communicate ideas

precisely

Which of the following is a narrow aim
of teaching Mathematics ?

(A)

(B)

(C)

(D)

To make learners’ proficiency in
handling numbers and number
operations

To develop learners’ generalisation
abilities

To develop learners’ ability to argue
the truth

To develop systematic reasoning
among learners

Qg /0l 8Ie / SPACE FOR ROUGH WORK

(41)

(Continued)
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+m

2a §g6a CD 6 BD gaigen [C 6 |ABE
Q 99569 | 9§ [BDC =28° €4
(ABC +|ACB) 6q66?

(A) 28°

(B) 56°

(C) 84°

(D) 124°

9@ 99 9aa Aty 6 Y@ J6IER

Q1A QAR g9, 6669 62Q |

(A) 999 6AFTR = Q6 695Q 6AGTR
(B) 909 690U > 94 6999 630TR
(C) 909 688TR < Q9 639R 6IGTR

(D) 9@ 6 QJ6ALR 6ITTR AFIEQ
EaI6R 22629 QT

112.

C

' i2qram, CD and BD are
Estzstg\slec; (Ij_éagarnd |ABE respectively.
If [BDC =28°, then the value of
( ABC +|ACB) is
(A) 28°
(B) 56°
(C) 84°
(D) 124°

If the circumference of a circle and the
perimeter of a square are equal, then

(A) Area of the circle = Area of the
square

Area of the circle > Area of the
square

(B)

Area of the circle < Area of the
square

(C)

(D) Nothing definite can be said about
the relation between the area of the

circle and square

Qg 9691 99 / SPACE FOR ROUGH WORK

(42)

(Continued)
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114.

115.

oce aIdi eagmi: 3 5 _ 15

) 4°8 32’
olg 679 97199 JERIAIAR FRIAIF 62
QeR?

() 692 IRIR AqQ AR YR AGUIA 6Qa

®) @?r’aa egua QAQNE AAAIQ 2RI
@@l 8 *0Q AAFA AR Qea!

(C) MISdIR 9B AR TG 9IS
(D) SFIUCIER AGQ 6AYLaT!

0Gga ADIGA 60Q gRIQ FRIAIRE
aR gga?

(A) ARSI

(B) q1I

(C) 9o

(D) AL

3
x=1-+/2 626%, (x—%) Q g 6@6Q
62Q?

113.

114.

115.

wrote: 24222
A learner 278 32’
f remedial teaching should

he learner ?
ractice of similar type

which type ©
be given to't
(A) Give more p
of problem

Advise the learner to work hard and

practice the problems on addition of

fractions
Give pictorial representation to clear

the concept
Write the solution on the

blackboard

(B)

(C)
(D)

Enrichment Programmes should be
applicable for which type of learners ?

(A) Slow
(B) Middle
(C) Gifted
(D) For all

f x = 1 — /2, what will be the value of

=1

(A) 8 (A) 8
(B) 642 (B) 642
(C) 82 (C) 82
(D) 16 (D) 16

aq @841 91 / SPACE FOR ROUGH WORK

(43)
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116. 906 a'®ux sagae 7,62ARFR

URTRQ CARITR 133 626/, R 6AINTH
6R60? :

(A) 19

(B) 39

(C) 126

(D) 29 .
117. 968 Q18 5% 9gq® 2iasa 1,200 .
dIR 2ER | g @ 68961 62 T 400 <
T | ool oF camsa 69 6966 G
436R, G190 2R Qi 3o Qa2
(A) T 524
(B) ¥ 528
(C) %532
(D) 536

118. 729 2@ Ageca s1q 6 aidiq agale

7121 69 218 6060 QI AIasm goq
8669 10 6 aidg AAS 7:3629 ?

(A) 600 &Rg
(B) 710 Gxg
(C) 520 Gag
(D) 663G geg

[ OTET - PE

is 7. If the
116. The sum of two numbers is 7. |

117.

118.

sum of their cubes is 133, what is the
sum of their squares ?
(A) 19

A man borrows % 1,200 at 5% compound
interest. At the end of each year, he pays
back ¥ 400. At the end of third year, hoyv
much amount should he pay to clear his
debt ?

(A) X 524
(B) ¥ 528
(C) I532
(D) ¥ 536

729 ml of a mixture contains milk and
water in the ratio 7 : 2. How much
more water is to be added to get a

New mixture containing milk ang water
in the ratio 7 - 37?

(A) 600 m|
(B) 710 m|
(C) 520 m
(D) None of these

QT *QQ Qe / SPACE FOR ROUGH WoRk

(44)
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s68 S990 ARSI QoQ ae|, o

OTET - P-l

1 gaaiell- 119. The sum of altitudes of a triangle is
________ thanthe perimeter of the
(A) OIQ QLA triangle. :
(@) @2 QAR (A) greater K
©) az (B) equal |
(C) half v
(D) Ol JYC
(D) less
= 120.
QR 096Q 99 |P =25°
6@66\@6@@? P =25 4. IR In the given diagram, if |P =25°, then
' the value of |R is
(A) 250 (A) 250
(B) 50° (B) 50°
(C) 75° =13
(D) 60°
(D) 60°
Qe @6l QI / SPACE FOR ROUGH WORK
D (45) (Continued)
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121. 1RGQ &R 4°C @ 0°C Qa6

92 2Igensa & aaeas €66

(A) 9el6A 2 9 I° 6169 q8 Q6%

(B) Qe Q@ald
(C) 98 g9
(D) <A g9

QEm,

122, T QUQIS §8] ¥R QEIFIQ TAER AG

RQ2SI 6 SIRIR FAITR YRR UK

QEM 6REL 699 ?

(A) 2rr

(B) mr
() 98
(D) 2r

123. 23 6@ 6441Q 2ALEHS ?
(A) edqi@
(B) %wig
(C) caiR
(D) QU6 6R16GG g6%

124. 6@641Q129!

ARIER 6618 94 |
(A) 21Q25ad
(B) 18 @ 21@9
(C) 10Q12 ¥
(D) 16 @18 ad

Q@44

(46)

122.

123.

124,

| ol =r n l

n 1 litre of water iS cooled from

| 4°C to 0°C, its volume

A) first decreases and then increases

(
(B) remains the same
(C) increases
(D) decreases

What would be the displacement of

a particle moving in a circular path of
radius ‘r’ after a displacement of half a

circle 7
(A) 2nr
(B)
(C) zero
(D)

r

a

N

r

Mushroom belongs to
(A) Algae

(B) Virus

(C) Fungi

(D) None of these

Adolescence ends between the ages of
(A) 21 to 25 yrs.
(B) 18to 21 yrs.
(C) 10to 12 yrs.

(D) 1610 18 yrs.
(Continued)
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6088 T8
5. % 9 Saiee Fgg

126.

127,

qraeal S ﬂsmam Uy 26 2

adieeReR ag
& 6aQ "9 A%m6a gon

B) 9969 ASRISR 6 ooy e
qaal Al

(€) Y9I ATT saiGIqeeq

(D) 2UMSHD YR Qg QA 6
QALIAS! 6QQ)

6AI8 92YYR RIQ cads amag
66 56168 QY g6g ?

(A) N2URNQ 6 AGANIR FVGIQ TRl

@

(B) € ARG 6QIT Q160G gRAG
ARATQ Q6Q

(C) daIEies AN QAR AANER

J9@ 2Ry QIF RRANAER

(D) 90I6Q FRIRINAR ASERR! QLS

e 2GR Fg§ 9@ goe @6l ?
(A) AR 9e° Fean

(B) oqI, Ta 9 &R

C) oql, & 9e° F6an

D) dgve ag

(47)

125,

126.

127.

OTET - P-ll

Which of the following is the learner’s
activity during teaching learning
process in observation method ?

(A) To give instructions about objectives
of observation

(B) To analyse the data by discussion
in group

(C) To provide appropriate situation

(D) To provide correction and help
wherever necessary

Which of the following statement is not
appropriate for experimental method ?

(A) It develops the discovery and
enquiry skills

(B) It discourages rote learning

(C) Teachers can do other work while
learners engage in experiments

(D) Science laboratory is required for
- this

What is the composition of Gunmetal ?
(A) Lead and Nickel

(B) Copper, Tin and Zinc

(C) Copper, Zinc and Nickel

(D) Lead and Zinc

(Continued)
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128. BRge diggee g 6966 Ag0IR
QARSI ? ~
(A) 2pARaq
(B) Ga&
(C) @i
(D) equ

129. ©RIQ RAIG6R 694 QAT TR AQLR

@6 ?

30. <1919 giae QidigainT ' ?

(A) Qeaia
(B) aasaig

©) gsa19199° ansaie
(D) 2a6aI8 671436 ged

1. 6206 sane gy 9969 9@ San ged -

(A) @ 22 6 ‘¥ 909 ¢gle QUS Fricq
4ol Qe Yaaeq 9591 9301 2legyq

(B) ‘@ gqa LRIER g 469 @ Hye

AUT Q@Q) [l

(C) 294 945 saigq 9360 6Zal aag

(D) dY6xv@ gagg WIRN1G Yqpog QZq

QOQ

(48)

128.

129.

130.

131.

mong the following metals is
which @

the lightest 7
(A) Aluminium

, . ~dom
Which subgroup in plant kingd
produces flowers ?

(A) Angiosperms

(B) Fungi

(C) Mosses

(D) Ferns [

What is the mode of nutrition in
bacteria ?

(A) autotropic

(B) heterotropic

(C) autotropic and heterotropic
(D) none of these

Which is not 5 principle for Preparation
of matching type questions ?
(A)

(Continued)
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133,

134,

ﬂm‘éﬁ‘%}aa Smmc,i 9% 95 gde
gadie TS| INAAIGG Aagg ga 999
(ARG QAR ?

(A) QAR dRlaie

@) 969199Re aiqie

(C) U098 SRiQiq

(D) SYIde SR

AaRYS AR 6995 Q10 goge

Q6% ?

(A) Q26Q RGT QITQ

(B) 6I%I 6QICR 6XIRG
(C) 2@l Aaq

(D) 98° I

PR 9ANG T) B AIQQ QR4 FVLER
3¢ GG FRIQ 690G OR ?
i. pH 2@ 626, NAQ (2F) IS8R §9
i. pH 2R 6a6m, 3R} (A QeR g9
iii. pH Q¢ c26m, VIR SSAIN g9

iv. pH @¢l 626m, SR §oF 99

A0R 399 6248
(A) i9ge iii
(B) ii Q- jii
(C) iiqgeiv

(D) easais 616G §6%

(49)

132,

133.

134.

OTET - P-ll

Which type of planning should be done
for weak students based on the result

of assessment ?
(A) Developmental teaching

)
(B) Remedial teaching
(C) Enrichment teaching
(D) Universal teaching

Which one of the following is not an
oxidation reaction ?

(A) Rusting of Iron

(B) Opening of soda bottle
(C) Rancidity

(D) Combustion

Which of the following statements is
correct about an aqueous solution of
an acid and of a base ?

i. Higher the pH, the stronger the
acid

ii. Higher the pH, the weaker the
acid

iii. Lower the pH, stronger the base

iv. Lower the pH, weaker the base

The correct option is :

(A) iand i
(B) ii and jii
(C) iiandiv

(D) none of the above

(Continued)
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135. gedyiea e gduIg AAAER 2RI
MM 62¢1AQIQ FIQE @61 ?
(A) snaq Igadl
(B) QIR IRAE
(C) eRea goaes
(D) 2UEAIRQ gOAQE

g2geea AaRye fga Fug 6/6T
QY LIS’ QUL FEIFEl ?

136.

(A) 99, 9296, A Ie° 67
(B) &%, 99, 98 99° 4]
(C) Qe93, 9, gaIRq ¥6° 69d9R
(D) Q2T A, 91 IQ° 6a4d9R

FRINEQ RN NGy AFANNR @RS
IR 699 800 QLR 6T ?

137.

(A) 2cleRIeal
(B) ageie
(C) Qeagd

(D) &ee
38. QF glafie 2a6q GRIe IAIRINR 994

@0 6291 2GR ?

(A) 94 Al dIQElg QAN 6L LAURG

(B) ¢sig @@ F162 Qgel

(C) Faidia Aede gaa ad6a 4ae 6qal

(D) 2IRAIGRS AU6Q YRR 2P YRR 634

(50)

135. T

136.

137.

138.

he redness in atmosphere at sunrise

and sun-set is due to

(A) scattering of light
(B) dispersion of light
(C) refraction of light
(D) reflection of light

e following combination of

ich of th
Whie! ous planets’ ?

planets is known as ‘gase
(A) Venus, Jupiter, Mars and
(B) Mars, Venus, Saturn and Uranus
(C) Jupiter, Saturn, Uranus and

Neptune
(D) Jupiter, Mars, Earth and Neptune

Saturn

Which method is used to find out the
truth in science ?

(A) Discussion

(B) Guessing

(C) Analysis

(D) Thinking

What should be the nature of science

teaching in upper primary level ?

(A) To repeat the concepts by asking
questions

(B) Remember by rote learning

(C) Give emphasis on the mental
process of learner

(D) Give more and more emphasis on

the concepts
(Continued)
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140.

141,

GARSE IR 6997 agg g Qe
569199 SIR6R Qg0 g
i, APAIRAA ARsgg
i, N3N Amearg
iii. QIS
0] 399 698 Qag
(A) 69% |
(@) 6aQ% ii \ig® ji
(C) 699% i 9&° ii
(D) i,ii @ iii

N, + aH, = bNH, aeieasisq,
a8 bQ Al V€629 ?

(A) a=3;b=2

(B)
(C)
(D)

SV VR U
|
('JD I\) I\J

O‘ O' O‘
1l
w NN W

SoRge AU 6a¢e QRIR SRAIRIRA
R QBREY G6L?

Aaaeaes g6 6 QIdig g8
Gaql 6 carles F1ea aes

(A)

gia, oI 6 5gqeg 997! 7o
aaayl

(B)

Gag 6 gg gewd @ 4
QqRIL K9S

()

(D) Gaee calg gRIf 69

(51)

139.

140.

141.

OTET - P-ll

Which of the following is/are used as

both fertilizer as well as explosive ?
i. Ammonium nitrate
i Calcium sulphate
iii. Potassium
Select the cofrect option.
(A)
(B)
(C)
(D)

only i
ii and iii only
i and iii only

i, i and i

In the equation:N, + aH, = bNH3, what
will be the value of aand b ?

(A) a=3;b=2
(B) a=2;b=3
(C) a=2;b=2
(D) a=3;b=3

Which of the following is not an
objective of teaching science ?

(A) To read the biography of scientists
and to appreciate their nature and

work

(B)

To describe the graphs, charts and

pictures
(C) To solve the problems by applying

the laws and formulas
(D)

To give importance to the teacher

(Continued)
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142, Geqie erig cedc MeIAe A6THE
oI ?

(A) QI5q 8aq craq A @Ralad!
(B) e ieia eqiagel g a9I¢!

(C) @ags aiRea git 6 6168 T4
@Rl

(D) Faeq & fang aaiead a2 geIaa
143. QIg 2AR1S1 9AQR 669 QI '8 ?
(A) QIRgdi] 2ig, 1e° 88
(B) cineen, deFaals), 9e° 48
(C) MQQIE] 9e° oF

(D) aerieeld, 87 9e° 48

44. QAAGER 690 I TR VAR
QIP6Q 56 62IRUT ?

(A) 9914 g9 FaRAG 2ady
(B) @IBIA 2T 5Q20E 24Ny
(C) Q919 g9 ad6eIor gy

(D) QAFSIA AISGY ZQGY

(52)

142.

143.

144.

OTET—pj;

which of the following activity indicates

the cognitive domain ?

(A) Tell the parts of a vehicle
To repair @ damaged fan

use of charts and graphs at the

appropriate place

Describe Newton’s laws with

examples

What is the end product of anaerobic

respiration ?
(A) Pyruvic acid and energy

Alcohol, carbon dioxide and
energy

Carbon dioxide and water

Carbon dioxide, water and energy

(D)

Which type of forest is most
extensively distributed in India ?

(A) Tropical Dry Evergreen Forest
(B) Tropical Semi Evergreen Forest
(C) Tropical Dry Deciduous Forest
(D) Subtropical Montane Forest

(Continued)
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146. O

296969

147. -

5. 6995 QIR Jagq o0 adig

QI 266 2 SR @

(A) 9K46ng
(B) CAYSIRG!
(C) 998 Ity
(D) 9 RuIag

0RQEER M 99 Jet: ng aga
leelﬁ’ 306 ANA6R UG18g oo |

al;f?g@ H g5 agaiee
6Q6R6IR

%Qul 2R Q12
@0 Qﬂaea%ﬁ

216 g%

421 IR 639 IRIDN FJRUIAR A1 26T ?
(A) QG QA4

(B) 6QG° 6@

(C) °9Y oInal

(D) 9KYeaRE A8G

W Bee G5 U@ Qg ISR 88 1@
an6R 9f Q06R 80 Q196 29E6 | 99
aden 6aIe 6 94, 6969 6R60 AR
AR @ Qgg QArIeq A6 gfica fade
QaIRe ?

(A) wtan e
(B)
(C)

w sin 6

w cot 6

(D) wcos6
(53)

145,

146.

OTET - P-ll

Which is a tool used in science
learning assessment process ?

(A) Observation
(B) Checklist
(C) Project work

(D) Portfolio

Put @ mark in the correct answer :
Teacher does experiment during
teaching learning process of science.

Always

Sometimes as
per requirement

Whenever
required

147.

Very often inspite

of all facilities Never

Which type of assessment tool is it ?
(A) Anecdotal record

(B) Rating scale

(C) Checklist

(D) Observation schedule

A weight ‘W’ rests on a rough horizontal
plane. If the angle of friction is 8, the
least force that will move the body along
the horizontal plane will be

A) wtan@

(

(B) wsin®@
(C) weceoto
(D

) wcos g

(Continued)
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148. GgRge FUQ 6aae AT

149.

150.

gelee
QRIT gRIe QUER RIS 9647

(A) AR R

(B) QEARR RS (TNIEAT Qo)
(C) 6RQIeR Q!

(D) FIRESIEER

B¢ Aug 6a6F Ag0IR §9SA 61T

2GSRI ?
(A) RNREARE

(B) 69Q6QU6RIE]
(C) 696QIQAEHIE]

(D) QURCAINE

G99 699 dEreId AR 6a19 92
agé 266 ?

(A) 6% FIRCTIRER
(B) 6299 66U R
(C) 299 AIREIRgR G 6]I6UYS

(D) 663G gee

(54)

148. Whic

149.

150.

OTET - Pl

h of the following is not based on

the heating effect of current ?

(A) Electric heater
(B) Electric bulb (with filament)
(C) Electric iron

(D) Microwave

The smallest organelle in & cell is one
of the following

(A) Lysosome

(B) Spherosome

(C) Peroxisome

(D) Ribosome

Which of the following organelles
shows similarity to a prokaryotic cell ?

(A) Mitochondria only

(B) Chloroplast only

(C) Both Mitochondria and Chloroplast

(D) None of these
" (Continued)
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